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PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2011
College of Sciences

Section 5 Quiz 1 29 September 2011

Closed book. No calculators are to be used for this quiz.

Quiz duration: 15 minutes

Name: Student ID: Signature:

Determined to test the law of gravity for himself, a student walks off a skyscraper 180
m high, stopwatch in hand and starts his free fall (zero initial velocity). Five seconds
later, superman arrives at the scene and dives off the roof to save the student.
Superman leaves the roof with an initial speed v, that he produces by pushing himself
downward from the edge of the roof with his legs of steel. He then falls with the same
acceleration as any freely falling body.

a) What must the value of v,be so that superman catches the student just before

they reach the ground?

b) On the same graph, sketch the positions of the student and of superman as
functions of time. Take superman’s initial speed to have the value calculated
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PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2011
College of Sciences

Section 4 Quiz 1 29 September 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

An entertainer juggles balls while doing other activities. In one act, she throws a ball
vertically upward and while it is in the air, she runs to and from a table 5.0 m away at
a constant speed of 2.50 m/s, returning just in time to catch the ball.
a) With what minimum initial speed must she throw the ball upward to
accomplish this feat?
b) How high above its initial position is the ball just as she reaches the table?
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PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2011
College of Sciences
Section 2 Quiz 1 29 September 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: | Signature:
A flowerpot falls off a windowsill and falls past the window below. Y:)u may ignore

air resistance. It takes the pot 0.2 s to pass from the top to the bottom of this window,
which is 1.80 m high. How far is the top of the window below the windowsill from

which the flowerpot fell? . L
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A ball is thrown straight up from the ground with speed v, . At the same instant, a
second ball is dropped from rest from a height of H, directly above the point where
the first ball was thrown upward. There is no air resistance.
a) Find the time at which the two balls collide. (in terms of v,and H)
b) Find the value of H in terms of v,and g so that at the instant when the balls
collide, the first ball is at the highest point of its motion.
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PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2011
Colleée of Sciences

Section 3 Quiz 1 29 September 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:
On Planet X, you drop a stone from rest and measure its speed at various times. Then
you use the data you obtained to construct a graph of its speed v as a function of time
t. From the information in the graph, answer the following questions.

v (mfs)
a) What is g on Planet X?
b) An astronaut drops a piece of equipment from
rest out of the landing module, 30.0 m above the 3L
surface of Planet X. How long will it take this 20k
equipment to reach the ground and how fast will 7
it be moving when it gets there? My 1 | ')
_ . s B ‘ ol 1 2 E
; .,\ /; 15 4o acce leration ot M\ s motigh  or +la 3{0/3 P :/
he V-1 graph . So we <an write s
g BBk _jEVa g
a = - S /=

ot 2 it
e 1
b \ pa ICb) s & sim f)lﬂ -/:i,.'o—" -./’;4 /A;{ pro j,é; m  wat L g v 1 }:bﬁ:ﬂ{ 2C k

= ;- 5 Y X 1] + | A+
= e ol i 5wl (J ﬁlf'ﬁ,‘ b e / i -~ g ¢
A *CL;/I!—*]J /‘-j =L e con !p 0!.f o z
2 vy RS o
4 [ =t e K 2 Z
AL ELC NI
2 IS | (D

,r:.)! ] PL/F_ ) J—i

B

; A
'IU,. = Il l; )-f/ = —’.} 0 w"‘/( lll\ Lown weve K(b}

[ 3\ o=

s



